SEEFU-165vh—1)—42015 #HEEIE—-[128]] KB
gl HAiE T R
— 5 1
10:00 BT B3 9 - 1 EE
ALE |mrrma 0
% 11:45 | ZERITE 4 - IG 1 J\IBEa%8
1 \ )
f B \ 1000 EMC 7 3 - é 1 ERE
EHC \ J
(H) 11:45| R*R 3[? - 8} 0 J/KOEB
0 0 :
11:45 | /\IBRE%¥B 2 - 4  FpiMC
SH2SE | e S
%= 10:00| E;Edt 0[0 - 4] 5 HR
2 d S
# | 65075 1200| kO®EB 3 ; - f 3 ETRBA
(+) |KAEB[— 0 1)
13:00| ZRE 0 0 3 4 ERRIE
SRIE | gy 11:45| %8 5 g - (2’ ) EHRE
7 ; 3
= A 1000| BMC 8 g - 8 0 JKOXB
3 > <
B | ompg N 10:00 | ERITZ 8 g - g 0 EEIL
= I \ J
(A) 1145 |;ET R84 5 [g - g} 2 J\IBRI%E
JAE 14:45| ERE 3“ - H 5 iETRA
BT R
| & 13:00 | )\ 1B 2B 5[2 - SJ 2 Rk®
4
| g e 1000| EiEdt 1U) - gJ 5  ERNC
=
(£) 11:45| kO =B 1[(‘) - ;] 6 EiTZ
TR19F | wirs 1000 | EHRTZ 5 l - } 2 EITRBM
=T . Y
= A 1145 %8 2 (2) - g 4 EMC
5 . S
) e 11:45| EHRE 5 1 - g 0 kOB
JE > =
(H) 10:00 | /\IBEE%¥B 5 (5) - 8 0 KEdt
5295 1145 [;ET B 4 ; - } 2 MG
AT S - <
s B 10:00| KOEB 0 8 - l 5 J\IER%B
6 o P
B | 4 m00m [ 1000| Rimit 2\} - g 12 ER=E
(g) | ERLH _ 1 _ 0 0
11:45 | EREITE 2 : o) O FER
TR 10:00 | /\PER 2B 2Lg - ﬂ 3 ERE
J\ IR
= A 11:45| TMC 4[; - 8] 0 ERITZ
! 0 0
] 10:00| /kO=EB 5L5 - oJ 0 EEL
It
(R) 11:45 | 3557 3t 2[} - g] 4 kH




